Government of Western Australia
School Curriculum and Standards Authority

Examination erratum

TUESDAY 6 NOVEMBER, 2:00PM
ENGINEERING STUDIES - STAGE 3

Page 13: In Question 13, part (a), at the end of the first sentence, insert a negative sign
between the m and the superscript 2, in the term in brackets.

The sentence now reads:
‘Suppose the solar water heating system has a collector area of

4 m? and the average solar power over a clear and sunny day is
500 joules per second per square metre (J s m?).’
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